



A. R. M. FIRST GRADE COLLEGE

S. Nijalingappa Layout, DAVANGERE-577004, Karnataka State.

E-mail:	armfgc.dvg@gmail.com	vveb	. www.aimigcuvg.org

6.NOW W.GO . W. W. CO.	ಕೃ.ಸಂಖ್ಯೇ	: ಎ.ಆರ್.ಎ	೦. ಪ್ರ.ದ.ಕಾ/
------------------------	-----------	-----------	--------------

ದಿನಾಂಕ :.....

ಫೋನ್ : 08192 - 221086

4.2.3 Average Annual Expenditure for Purchase of Books during the 2016-17

Following are the details of the expenditure incurred towards the purchase of books. The relevant bills attached herewith

Books-2016-17

Sl. No.	Shop Name	Invoice No.	No. of Books	Amount
01	Chethana Book House	853	46	9250
02	Chethana Book House	861	12	1857
03	Chethana Book House	874	71	12468
04	Mahalaxmi Enterprises (pg)	IN2770	48	22772
			177	46347

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



PRINCIPAL

A.R.M. First Grade College
S. Nijalingappa Layout,
DAVANGERE-577004;



MAHALAXMI ENTERPRISES

Wholesale Book Seller & Library Suppliers P.B.No 5617, 66, 57th 'A' Cross, 6th Main, 4th Block,Rajajinagar,Bangalore - 560010 Phone: 080-23157433,23201967,23147997, 9845176553, mehrsatish@gmail.com TIN: 29280205886, CST: 93566566, PAN: ADYPM5945R

eigi ni

are in

THE PRINCIPAL

M/S A.R.M. FIRST GRADE COLLEGE

S.NIJALINGAPPA LAYOUT, DAVANGERE - 577004 KARNATAKA

Ph. 9901697861, 9844828846 Email:riaz29.md@gmail.com

INVOICE No.: IN2770/16-17

Order No LIST Sent By CORRY 0

G.RUR.ReNo. 1661 (11/177 01 Weight wens saldling Bundles it

Transport Co. VRL DOOR DELIVERY bancolar From BANGALORE To DAVANAGERE TO

Date: 11-Jan-2017

Date: 28-Oct-2016 Doc. Through : DIRECT Date: 11-Jan-2017

Freight : PAID

	ISBN/CODE	TITLE bas chile tags				3917774			
S.No.	ISBN/CODE	illumme gut nest is	AUTHOR	PUB				Dis(%)	NET AMT
-1	PCG243	BUSINESS ETHICS AND CORPORATE COVERNANCE	A			RU 398.00	1990.00	20.00	1,592.00
-2	PSM179	COMPUTER APPLICATION IN BUSINESS	SUDALAIMU	нім	ang.	₹1°2598.00	2990.00	20.00	2,392.00
_3	PCG348	ENTREPRENEURIAL DEVELOPMENT +	VASANT DE	нім	5	₹ 525.00	2625.00	20.00	2,100.00
-49	9788131762264	ENTREPRENEURSHIP DEVELOPMENT & SMALL BUSINESS ENTERPRISES	CHARANTIN	PEA.	5-	₹479.00	2395.00	20.00	1,916.0
_5 9	788174468956	HUMAN RESOURCE MANAGEMENT	RAO TOO	EXC	5	₹ 800,00	4000.00	20.00	3,200.0
6	788131707043	MANAGEMENT	STONER	PEA	5	₹ 779.00	3895.00	20.00	3,116.0
7 5	789332557185	MARKETING MANAGEMENT	KOTLER	PEA	1. Ca 5	899.00	4495.00	20.00	3,596.0
-8 9	789327237504	ORGANISATIONAL BEHAVIOUR X	GUPTA	KAL	5	RU 395.00	1975.00	20.00	1,580.0
9 9	780071333337	PRINCIPLES OF MANAGEMENT	TRIPATHI	MGH	:035€	₹ 550.00	2750.00	20.00	2,200.0
18 9	789325963085	SECURITY ANALYSIS AND PORTFOLIO MANAGEMENT	PANDIAN	VIK	91,73	₹ 450.00 :⊌∰≎	1350.00	20.00	1,080.0
Name of the last		LIBRARIAN A.R.M. First Coade Col	63	<u>l'</u>	True C	PRING	ARJ		
		P.G. Centre			Spub	2 DH	2		
		<u> </u>	Total:	A POST	48	T MAN	sG		22,772.
onve		-₹ - 1.00,RUPEE - 1.00	EC 198					1	
upee	s: Twenty Tv	vo Thousand Seven Hundred Seventy Two C	Only			NET Amo	unt Payab	le (₹)	22,772.
. & O.	E.					NET AITO	une i uyue	(.,	

Remark:

Terms & Conditions:

- 1 Books once sold to order will not be taken back or exchanged.
- 2 Discrepancies in this bill if any please be brought to our notice within a week's time.
- 3 No deduction is to be made in this bill without our written confirmation.
- 4 Payment to be made within 30days from the date of this bill, Otherwise 18% interest will be charged
- 5 Certified that the price charged in this bill is in accordance to the price fixed by publishers.
- 6 All disputes are subject to Bangalore Jurisdiction.

Prepared By

Chee . No. 621246
Checked By

Douts: 31-01-12

For MAHALAXMI ENTERPRISES

Bank Details : Central Bank of India Branch : Rajajinagar Branch

Acc Name : Mahalaxmi Enterprises Acc no : 1198229640

Ifsc code : CBIN0281200

Authorised Signatory

Page No. :- Page 1 of 1

Co-ordinator Internal Quality Assurance Cell (IQAC) A.R.M. First Grade College S.N. Layout, Davanagere-577 004.



Photi PRINCIPAL A.R.M. First Grade College S. Nijalingappa Layout, DAVANGERE-577004

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



PRINCIPAL

A.R.M. First Grade College
S. Nijalingappa Layout,
DAVANGERE-577004;

	Subject to Mysore Jurisdict	TO THE PARTY OF TH
ದೂರವಾಣ: 6454123, 42501	05, 2445494	uon
	ಕ್ ಹೌಸ್ ್ಲ	TIN: 29690108515 C.S.T. 20772944
ರೇಣುಕಾಚಾರ್ಯ ದೇವಸ್ಥಾ	ನದ ರಸ್ತೆ, ಮೈಸೂರು .24	rincipal .
ಶಾಖೆಗಳು : ದಾವಣಗೆರೆ, :	ಬೆಂಗಳೂರು, ಶಿವಮೊಗ್ಗ.	
853	1008/18010 more	F C Colley
ric.	क्षेत्र हम सम्बद्धाः) avanage
ಪ್ರತಿಗಳು	wit Ed. with the state of the s	ಡಿ ಜಿಲ್ಲಾ ಜಿಲ್ಲಿ ಜಿಟ್ಟು ಮೊತ್ತ
10 Financia	TO TO THE TENTON OF THE	್ ದಿನ್ನಲ್ಲಣ 🐠 / ರೂ. ಪೈ
5 Financ	al abandi Con Jan Cola	2000 000 00
10 Financia	THE POLY WORD OF HEL	5000000
	Sevice	2000e0406050
10 Princip	A	1 500 00
	ರಂದು ರಾಸ್ತಾನಿ ತಗೆದುಕ್ಕೋಲಾಗಿದೆ.	2001 2.000 00
10 Principle	Place from the many	De Contrador de la contrador d
I Jn Com	1 and 1 1 day	
46	1 04 281	0A9tra 500 - 500 00
46		9.250 00
	Les	301 € 1.850 00
ر روس	1 (m) 2	T. GHA 7400 00
O HARIO	YEHY D	LIBRARIAN D
Page Balled	33.00) (40): (41)	S. Mijaling spps Lajour
RE 577001	LAND AND TO THE PROPERTY OF TH	On Mad
		D
		- 101
		अश्वतं या च ज्यान (प्रश्नुवस्त
	The state of the s	G=: 10 NO 577 dt
)	ಕುದಿಲ್ಲ. ಸಹಿ/-
ಒಮ್ಮ ಮಾರಿದ ಪುಸ್ತಕವನ್ನು ಯ	ಾವ ಕಾರಣಕ್ಕೂ ವಾಪಸ್ಸು ಮತ್ತು ಬದಲಾಯಿಸುಕ	πω/-
	La Gent	130 00 00 00 00 00 00 00 00 00 00 00 00 0
- Alle Mi	ಯಾವ ಕಾರಣಕ್ಕೂ ವಾಪಸ್ಸು ಮತ್ತು ಬದಲಾಯಿಸಿ	ಗುವುದಲ . ಸ್ವಾರಕ್ಕ್ ಸಹಿ/-

Co-ordinator
Internal Quality Assurance Cell (IQAC)
A.R.M. First Grade College,
S.N. Layout, Davanagere-577 004.



PRINCIPAL
A.R.M. First Grade College
S. Nijalingappa Layout,
DAVANGERE-577004

Co-ordinator Internal Quality Assurance Cell (IQAC) A.R.M. First Grade College, S.N. Layout, Davanagere-577 004.



- wwno-5// 0UZ.

Phenti PRINCIPAL A.R.M. First Grade College S. Nijalingappa Layout, DAVANGERE-577004